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(a+ 2i)(3 + 4i) 4+ 5(1 — bi) = 0| A
(3a—3) + (4da—5b+6)i =0

a, b7t AFo|Br BE457L e 22 279 96te] 3a-3 =
0, 4a—5b+6=0

La=1,b=2

webA a + b = 3 o]t
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a=(1-v2)(1+ V2)+(-3) (1= v2) +(-3) (1 + V2)=-7
b=-(1-2) (1+ V2) (-3) = -3

SLoa+b=-10
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f) =2 f(2) =4, f(3) =6
fx)=(x-1)(x-2)(x=3)+ax®> +bx+c
a+b+c=2,4a+2b+c=4, 9a+3b+c=6
a=0,b=2,¢c=0

f) = -D(x=-2)(x=3) +2x
f(4)=3x2x1+8=14




T oA B 42 —x-29% 2% tax+ b9 HHF = x4+ 1
|1, HAFulsE xt - 5x2 + 0]tk o] ul, A4 g, b0l HH5to] ab
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B2 -x-2=(x+1Dx+2)(x-1)

¥ tax+b=(x+1)(x+k)

=52 +4=(x+1)(x-1(x+2)(x-2)

(D= D+ 2= 2)= (r+ D(x+ 2= D+ k)
Sok=-2

X tax+b=(x+1)(x-2)=x*-x-2
La=-1,b=-2

Soab=2
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y=a(x+1)(x—4)

4 (0, 16) S A2

16 =a(-4),a= -4

y=-4(x+1)(x-4)
=—4(x2 - 3x-4)

9 9
=—4<x2—3x+1—1>+16
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(1-V2)(1+ V2)a=3 ------ Q)
(1-V2)+(1+ V2)+a=-a - ®)
(1- V2i)(1+ VZi) + (1 - V2i)a+ (1 + V2i)a=b ------
@ANA 3a =3

La=1

ONA 2+a=-a

sa=-3

©AX 3+2a=0

~b=5

wat A ab = -15
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(x—y)%2 = 44

¥-2xy+y’=4 - O
¥ 4+4xy+y?=10 - ©

O-@ : 6xy=6,

Lay=1

L (x+y)? = (x-y)% + dxy
=4+4+4-1=8
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AAZ AELPAS EH,
x=y+2E Ol HYstA
+2)2%+4y(y+2)+y*=10
6y2 +12y-6=0,y2+2y—1=0
9] F4]& o] 854,
Ly=-1%+V2, x=1+ V2(E35%)
L y)? = (L2 VE) + (12 V2)?
= (¥2v2)?2 =8
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QAN x=0FEE= x=2y
(i)x=0< o :
©NA y2-y=0
Ly=0E&1
(ii)yx=2y 4

O°llM 4y =y? -y

Ty=0%
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A yoll o] @ —day + 5% + 20 -8y +5 =0 T, x +y
o] ghe?
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x% —4xy + 5y +2x—8y+5
=x2-2(2y-D)x+ 4% -4y +1+)y> -4y +4
=22 —2(2y - D)x+ (2y—1)2 + (y - 2)?
=(x-2y+1)2+(y-2)%2=0

L x=-29+1=0,y-2=00|E&
y=2,x-441=0 .. x=3

Wt x+y=3+2=5




